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1. (&) A triangle has sides 12cm, 16cm and 20cm. Is the triangle a right-angled
triangle? Give your reason.

(b) A triangle has sides 2.8cm, 4.5¢cm and 5.3cm. s the friangle a right-angled
triangle? Give your reason,

2. (a) Ais the point (3, 2) and B is the point (8, 6). Find the length AB.
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In which triangle below does g%+ p2 =27
{(a)Tick (¥') the correct triangle.

-

(b) For the other triangle, write an equation linking a, b and ¢

(¢} In which triangle below does a2+ p2=c29
Tick {v') the correct triangle.

For the other triangle, explain why a? + b2 does not equal 2
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4. The line shown is the hypotenuse of a right-angled triangle.

Complete the triangle.
How many possibilities can you find?
# @ = 5; e % F
;5
5. Show that this friangle contains a right angle.
g If you increase the height I
t  ofthe triangle by 1 cm then § 17 cm
g it remains right-angled 8 cm
e
— TRon
Do you agree with Ron?.
, 15 cm
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6. A hexagon is drawn on a centimetre square grid.
Annie says that the perimeter of the hexagon is 6
cm. Explain why Annie is wrong.

1eom

7. Find the length of the diagonal of the rectangle.
Give your answer o two decimal places. , 3m

05m

8. A football pitch has a length of 100 m and a width of 70 m.

The diagonal length is 125 m.
Justify whether the pitch is rectangular or not.
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- 9. Alen is calculating the missing length of the right-angled triangle

22 + b2 = hgg}z
x2 +0.92 = 3,22

%2 =322-092

Complete Alen’s working to find the missing side. 3.2
10. Anna says that the fwo triangles have the same perimeter.
Show that Anna is wrong.
12 cm
|
, 12 em
5cm| 5
: cm
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11. Who do you agree with? Why?

| can use Pythagoras’ theorem
to find the length of the line
segment.

Rosie

Now B o
| N

You can’t use Pythagoras’ theorem

~ as there is no right-angled triangle. 1
| 0 o
Jack 61 2 374 E &
12. Angle MLN = g0°.

LM = 3.7 m. MN= 6.3 m. L

Work out the length of LN. Give your |

answer correct to 3 significant figures. 37 m ] E’;SS;;?; gﬁ;ﬂ

N

M 8.3 m
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14.

AW

-t
L)
3

N

Calculate the length of the side CD.
Give your answer correct to one decimal place.

A ladder is 8 m long.
T

) Diagram NOT
\\i}? cm accurately drawn
~

...................................

he ladder is placed on horizontal ground, resting against a vertical wall.

The instructions for using the ladder say that the bottom of the ladder
must not be closer than 1.5 m from the bottom of the wall.

How far up the wall can the ladder reach?
Give your answer correct to 1 decimal place.
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15. Shown is a right-angled triangle.
Not drawn accurately

Work out the perimeter of the triangle

NOT TO
SCALE

Work out the total distance around the outside of the sail.

........................... {07 5 4 PURSUSIRORI ) § {21

Score/Geometry/Year 8 190




17..

Not drawn aceuraiely

20m

18m

The distance from a point on the ground to the base of 2 tree is 18

metres. The distance from a point on the ground to the fop of atreeis 20

metres.

Calculate the height of the tree,
Give the answer correct to 1 decimal place.

,,,,,,,,,,

Noidrawn to scale

1.5m

A4 metre ladder is placed against a vertical wall,
The base of the ladder is 1.5 metres from the base of the wall

Work out how far the ladder reaches up the wall.
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19. PQR is & right-angled triangle. 50cm

PQis 50cm
QRis Z2m

| Hot drawn accurately

R

Calculate the length of PR.
Give your answer in metres, correct to 1 decimal place.

20. The diagram shows a quadrilateral containing two right angles.

NOTTO
SCALE

acm

Secm

"Ca‘!cuiate the value of a.

............................................

Score/Geometry/Year 8 192




21.Triangle ABC has a perimeter 17cm.
AB =d4dcm  BC = Bom

By calculation, deduce whether triangle ABC is a right-angled triangle.

22. A frame is made from wire,
The frame is in the shape of a rectangle 12 cm by 20 cm.

The diagonal of the rectangle is also made from wire.

20em

Calculate the total length of wire needed to make the frame
and the diagonals,
Give your answer correct fo 1 decimal place.
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